2.2 The Factor Theorem

The Factor Theorem states that (x-a) is a **factor** of a polynomial function P(x)if, and only if, P(a) = 0. Example 1: Determine which binomials are factors of $P(x) = x^3 + 4x^2 + x - 6$ $\begin{bmatrix} (x-1) \\ P(1) \ge 1^3 + Q(1)^2 + 1 - 6 \\ = 0 \\ \therefore (x-1) \\ is a factor \end{bmatrix} \begin{bmatrix} (x+2) \\ P(-2) = (-2)^3 + Q(-2)^2 + (-2)^2 - 6 \\ = 0 \\ \therefore (x+2) \\ is a factor of P(bx) \end{bmatrix}$ $\begin{bmatrix} (x+1) \\ P(-1) \ge (-1)^3 + Q(-1)^2 - 1 - 6 \\ = -Q \\ \therefore (x+1) \\ P(-1) \ge (-1)^3 + Q(-1)^2 - 1 - 6 \\ = -Q \\ \therefore (x+3) \\ P(-2) = (-3)^3 + Q(-3)^2 + (-3)^2 - 6 \\ = 0 \\ \therefore (x+3) \\ P(-3) = (-3)^3 + Q(-3)^2 + (-3)^2 - 6 \\ = 0 \\ \therefore (x+3) \\ P(-3) = (-3)^3 + Q(-3)^2 + (-3)^2 - 6 \\ = 0 \\ \therefore (x+3) \\ P(-3) = (-3)^3 + Q(-3)^2 + (-3)^2 - 6 \\ = 0 \\ \therefore (x+3) \\ P(-3) = (-3)^3 + Q(-3)^2 + (-3)^2 - 6 \\ = 0 \\ \therefore (x+3) \\ P(-3) = (-3)^3 + Q(-3)^2 + (-3)^2 - 6 \\ = 0 \\ \therefore (x+3) \\ P(-3) = (-3)^3 + Q(-3)^2 + (-3)^2 - 6 \\ = 0 \\ \therefore (x+3) \\ P(-3) = (-3)^3 + Q(-3)^2 + (-3)^2 - 6 \\ = 0 \\ \therefore (x+3) \\ P(-3) = (-3)^3 + Q(-3)^2 + (-3)^2 - 6 \\ = 0 \\ \therefore (x+3) \\ P(-3) = (-3)^3 + Q(-3)^2 + (-3)^2 - 6 \\ = 0 \\ \therefore (x+3) \\ P(-3) = (-3)^3 + Q(-3)^2 + (-3)^2 + (-3)^2 - 6 \\ = 0 \\ \therefore (x+3) \\ P(-3) = (-3)^3 + Q(-3)^2 + (-$

The maximum number of factors possible for $P(x) = x^3 + 4x^2 + x - 6$ is <u>S</u>. Since all the factors of the polynomial have been found, we can write the polynomial in its factored form: $x^3 + 4x^2 + x - 6 = (x-1)(x+2)(x+3)$.

Knowing that the zeros of the polynomial function P(x) can give us the *x*-intercepts of the corresponding graph, we are able to sketch a graph of $P(x) = x^3 + 4x^2 + x - 6$



Try This:

Factor
$$2x^3 - 5x^2 - 4x$$
 (f) fully. Factors of $3 \rightarrow \pm 1, \pm 3$
Try -1
 $4 cases$
 $f(-1) = 2(-1)^3 - 5(-1)^2 - 4(-1) + 3$
 $= -2 - 5 \pm 4 \pm 3$
 20
 $\therefore (x \pm 1)$ is a factor
 $L_3 Naw$ long division to get a confertable
 $gua dratec.$
 $x \pm 1, \frac{2x^2 - 7x \pm 3}{2x^2 + 3x^2}$ Now $f(x) = 2x^3 - 5x^2 - 4x \pm 3$
 $= (x \pm 1)(2x^2 - 7x \pm 3)$
 $\frac{2x^3 \pm 1x^2}{-7x - 7x}$
 $\frac{3x \pm 5}{-7x^2 - 7x}$
 $\frac{3$